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There are 10 problems on gpages. Each problem is worth 5 points.

1. Define “cyclic group”. Use complete sentences.
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2. Define “center”. Use complete sentences.
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3. TRUE or FALSE. (If true, PROVE it. If false, give a COUNTER EXAMPLE.)
If every proper subgroup H of a group G is abelian, then G is abelian.

The Grp Dz 15 how—<belon lkgue T = PT; THC
ow?a-, Sy L’jkaf-{fj 06 Da ;N?CE Ol'd‘p‘ [; -§0’>3 120 L‘(g}d‘zjrf
Toeoem, R Grot of ovder Lot

3} cplic b qSelren
(a9ain lD Lo grange's ’ﬂ,coﬁ{'ﬂ)

Tt 04ty Froar [ O]
’ g ! /-?
() <7, Seo kwets Pof) subgroqf 4] G 13 Y 4.



